
 

 

T1:  Cedrus Atlantica ‘Glauca’:  

To prune to give 1.5m clearance from the gutters 

T2: Evergreen Oak:  

To reduce the crown by approx 1m all over, to thin out the crown density by approx 25% to improve 

light filtration to the garden below. 

T3: Evergreen Oak:  

To reduce the crown by approx 1m all over, to thin out the crown density by approx 25% to improve 

light filtration to the garden below 

T4: Robinia  

To thin out the crown density by approx 25% to improve light filtration to the garden below 
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